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3)

() NoH 5 A 8, 9 7 @ el IR & I Giford |
Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(i) ¥ T & TH Tl %) FHER U T B tad |
Solve all parts of a question consecutively together.
(iii) ¥% 7 F) 79 98 8 I Fd |
Start each question on fresh page.
Gv) I 9Tl F i g Bl fRifa 7 it s & a8 |
Only English version is valid in case of difference in both the languages.

S0 81 1 ezl ® Fied $ M g g A I A R ?

(a) arIEd LAN (b) VLAN

(c) arufeda LAN (d) WAN

For a small area, which technique is used to connect devices in Bluetooth ?
(a) Wireless LAN (b) VLAN

(c) Wired LAN (d WAN

MIN [ Has 2

(a) WieIge YEaH 641 (b) WEEd T
(c) Aeadh # aitad-igar (d) HreTEd g=A
MIN stands for

(a) Mobile Identification Number

(b) Mobile Internet

(c) Mobility in Network

(d) Mobile Information

Siftra Y FaT % Rl doer 8 i P A R
@ TamrR (b)) FEL  (©) FEHR (4 TR-IEER

The shape of the cellular region for maximum radio coverage is
(a) Circular (b) Square (¢) Oval (d) Hexagonal
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AR G ITE H 0 H T AN R

(a) G EE @

(b) difir ol &I Stawesd

(c) o aolshm qEt HAr Hi Arafed FEAT

(d) IvtEa e

The advantage of using frequency reuse is

(a) Increased capacity

(b) Limited spectrum is required

() Same spectrum may be allocated to other network
(d) All of the above

RueHTs 7 &1 HRw 2

(@) ST Gahd I AR b) 7S Rl
(© e IncE@AE e () IR E

Delay in handoffs is caused due to

(a) Weak signal conditions (b) High traffic conditions
(c) Unavailability of the channel (d) All of the above

CDMA &1 Haeid 2

(@) e Rfism afeore wdw (b)) Fie 3o Afcede wad
© wehimrfaace (d) Hewa e wea
CDMA stands for

(a) Carrier Division Multiple Access

(b) Code Data Multiple Access

(¢) Code Division Multiple Access

(d) Carrier Data Multiple Access

R a gunw ¥, G wifta @ % /R, T @ =1 @ 9, g H
fRmasi s R 7

(a) T auranafa (b) WieTse 941 ar Gfea

(c) TR arfRa (d) WieTger qT an F&a

Which mode is used for installing network in wireless communication device
characteristics ?

(@ Fixed & Wired (b) Mobile & Wired
(c) TFixed & Wireless (d) Mobile & Wireless
TCP/IP#TE 7

(@) Aea% AW (b) I TR

(©) WS @) de"

What is TCP/IP ?

(a) Network Iardware (b) Network Software

(c) Protocol (d) Ports
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WWW &1 Haerd &
(a) doS TS FAUS (b) dSwadsaTs
(c) deEasTAT (d) T3 aEs AeEEe
WWW stands for
(a) World Wide Web-page (b) Web Wide World
(c) World Wide Web (d) World Wide Web-site
WAP #IT & ?

(a) TEREE UCHFPTA MBI (b) AHG TAIA FlraEa

(c) drsE TAihyA WiZehiel @) &S

What is WAP ?

(a) Wireless Application Protocol (b) ~Wired Application Protocol
(¢) Wide Application Protocol (d) None of the above

WAP & &4 2

(a) T AT GRS G A 8 UEEH
(b) s

(c) a7 aTEE HRIHHIA

(d) I T

Benefit of WAP is

(a) Easy Access to time sensitive information
(b) Protable

(¢) World Wide Communication
(d) All of the above

WAP &l g frass fod 2 2

(a) 3T EHEAR (b) FE-FFH

(c) WIEHI-AFTH | (d W —FEFH
WAP is designed for

(a) Internet Explorer (b) Web-Browser
(¢) Micro-Browser (d) Macro-Browser
TCP/IP Soraie 1 s oaer, RS ver frl ad # 2

@ One(TF) (b) Two (@) (c) Three(d)(d) Four (IM)
How many levels of addressing is provided in TCP/IP protocol ?
(a) One (b) Two ' (c) Three (d) Four
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(14) TCP/IP fred dafta @ 7

(a) ARPANET (3¥2) (b) THR

() 3N.TE.3E. (d) TEE
TCP/IP is related to

(a) ARPANET (b) DECNET
(c) OSI (d) ALOHA

(15) =i Sy aft Segen R w1 7eT 3w R 7

(a) e Ifie

(b) FeEER

(c) Tiare e feafa e

(d) St at

Which of the following is the main part of basic cellular system ?
(a) Mobile unit

(b) Cellsite

(c) Mobile telephone switching office

(d) All of the above

(16) @mmﬁﬁmmmﬁtﬁﬂmWMiw%w

(a) e FER (b) SETIHERA
) fourt yar (d) I BETE

Fading of the received radio signals in a mobile communication environment
occurs because of

(@) Direct propagation (b) Multi-path propagation
(¢) Bi-path propagation . (d) None of the above
(17) T & fra s e, W@ GSM Fft 2 2
(a) oy feafam (b) Te feafam
(c) UagITE (d) §arem Ued
Which of the following traffic channels, the basic GSM is based on ?
(a) Circuit Switching (b) Packet Switching
(c) Connected Oriented (d) Connection less
(18) ardea LAN fora S 3 ol e surat 3§ aw e e @ 7
(a) HIH AW (b) - o
(c) TEIHAT (d) TR AW
Wireless LANs implement, security measures in the
(a) Session Layers (b) Data-link Layers

(c) Sub Layers (d) Application Layers
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(50f8) 342
st — Rt 1w, deese § HEe 2
@ =& (b) fudfiet
(c) st (d) g
The transmitter-receiver combination in the satellite is known as
(a) Relay ' (b) Repeater
(¢) Transponder (d) Duplexer

Ffq 3= sgf, Wﬁmﬁmmﬁaﬂmﬁwm,mmﬁaﬁ
fearsmar® ?

(a) 9@l igﬁl@

(b) TGl Ui IR

() rEruvsE % g feafda TE B

(@) ety waEs

Why are VHF, UHF and Microwave signals used in satellite communication ?
(@) More band-width

(b) More spectrum space

(c) Are not diffracted by the ionosphere

(d) Economically viable

aﬁ@;mﬁaﬁﬁm;mm,ﬁaﬁﬂzﬁsasema,mﬁﬁwmt,
@ s dgifes e te e gt ?

(@) 32Mbps (b) 72Mbps (©) 36 Mbps  (d) 12 Mbps _
What is the maximum theoretical data rate, if a transponder is used for binary
transmission and has a bandwidth of 36 MHz ?

(@ 32Mbps (b) 72Mbps (c) 36Mbps (d) 12 Mbps
mﬁmﬁﬁﬁﬁﬁﬁaﬂm,mw*%ﬂm% ?

(a) TDMA (b) FDMA

(c) CDMA (d) Fixed wireless Access

Which of the technique is suitable for multiple access in digital transmission ?
(ay TDMA (b) FDMA

(c) CDMA (d) Fixed wireless Access

CAvg ziadie % fnd gl g 2

(@ 6GHz (b) 4GHz (c) 14GHz (d) 8 GHz
The down-link frequency in the C-band transponder is
(@ 6GHz (b) 4GHz (¢c) 14GHz (d) 8 GHz

mﬁﬁﬂﬁ,ﬁ@—gﬂwﬁmmmﬂﬂ% ?

(@ TEE (b) I da

© e @ eaaa

Which rays are not the portion of electro-magnetic spectrum ?
(a) X-rays (b) Micro-waves

(c) Cathode-rays (d) Radio-waves

P.T.O.



1T304
(25)

(6 0f 8) 342

GSM feafen &1 garer fFas g a2 2

(a) BSS (b) NSS (c) OSS (d MSC
GSM switching function, managed by

(a) BSS (b) NSS (c) 0SS (d) MSC

(26) TR A B d GSM i TeiafRT A 2 7

27

(28)

(a) TvSE HiwTse SABH! (b) wrETEa FffEee e

(¢) =g Afifes ofes @) e fegas afes

Which of the following does not come under the tele-services of GSM ?
(a) Standard Mobile Telephony (b) Mobile Originated Traffic

(¢) Base Originated Traffic (d) Packet Switched Traffic

TDMA 3ifa 5= a2

(a) U & R iR % ol ad sngfa e % IwEm

(b) IFACTI- 3T 2TgH &ie % fordl adt Ingf St 1 3w

() HeTI-3ren HGh S & ford U € 2150 T H 394

(d) FeTT-3ren g A & Tord - e 21 e B IFN
TDMA allows the user to have :
(a) Use of same frequency channel for same time slot.

(b) Use of same frequency channel for different time slot.

(¢) Use of same time slot for different frequency channel.
(d) Use of different time slot for different frequency channel.

Higshiaa FHgfeheH fos & wid o Sl @ A s 2 7
(a) TiEfiRe qrat &I g@E |

(b) U I FCEH |

(c) T whiH HI agera |

(d) sEaUd fAwE v ZrafieE %1 S9E |

Short term fading in microwave communication links can be overcome by
(@) Increasing the transmitted power.

(b) Changing the antenna.

(¢) Changing the modulation scheme.

(d) use of diversity reception and transmission.
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(29) saﬁ%aﬂhmmz,tyzﬁ%vﬁa\zmaﬁrﬁq{mmmwﬁm

oA R 7

(a) ot — fompine Sure (by Af-Re-Rmne e

(c) N-UsIWE (d fEdz3uE

Which satellite rotates around the earth in a low altitude elliptical or circular

pattern 7

(@) Geosynchronous Satellite  (b) Non-Geosynchronous Satellite
(¢) Pro-grade Satellite (d) Retro-grade Satellite

(30) I A GPS W, et ¥t 91 &

(ii)

(iid)

(iv)

™)

3. 18

(i)

4. ®

(i)

(a) 999 fma (b) e fme
(c) iz foma () e fme
Signals which were sent from satellite to GPS are

(a) Wave Signal (b) Audio Signal
(c) Radio Signal (d) Thermal Signal

siarge o7 ) e B |

Define the mobile computing.

FTEE b Hi 3 R FAfe |

Write any two types of adaptation.

AR AR a1 ) HiE 3 g ol |

Write any two limitations of wireless communication system.

FAR LAN Frufor 1 18 2 snavashard foifiad |

Write any two requirements of wireless LAN formation.
WAP w1 farega &1 fafied |
Write the detailed form of WAP.

Fge ¥ fafi= a6 sven i |

Discuss the various issues of adaptation.

TraTee U % b HI afe G |

Explain the mobile computing architecture with diagram.

Far g ¥ frga-gradhia wag 6 s I |

Discuss the clectro-magnetic spectrum for the wireless communication.

vt wahR ) SR GG STaE13 hl aHs |

Explain the various types of wireless communication system.

(1x30)

(2%5)

(5+5)

(5+5)
P.T.O.
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) @%ﬂ@mmmﬁammmmﬁmm |
Draw the diagram of basic cellular system and explain the working of each

element.

(i) U 7ot Yoger fa=rm i wE FghT G A I A HI T |

Explain the frequency reuse technique by drawing a 7 (seven) cell celiular
configuration. (5+5)

) <itua . &t ot wwere |
Explain the specifications of GSM.
Gi) < uw ., e A e fren @l aEd |
Explain the switching system for GSM Network. (5+5)

() Fa® LAN % awenai i ansned |
Explain the problems of wireless LAN.
(i) Vegen oFae ag fer Fgf féfstor i arere |
Explain the fixed frequency assignment for cellular system. (5+5)

TaTse $2Ae &g fie i awsmsd
Explain the following for mobile internet :
() wea R4
Mobile IP
(i) war .
Wireless TCP ' (5+5)

WAP 2q Fr=r &t s 6
Discuss the following for WAP :
(i) TS WAPHisd
Basic WAP Model
(i) WWW 3nfheaat
WWW Architecture (5+5)




